EARAROBEEIERT — 2 N— IBISH —F

2013558260 (H) 3m=#B12H

BGNs5-c—xEV-—Xx7«—F1>17 $5R4%E (BED)

el N>F |mlm |mEsm - [z @ wo s

[A~&£] 1 7% 21,000,000 § ~ 23 :8,400,000 @ 337 :5,300,000 @ 4 7 :3,200,000 3 5 & :2,100,000 M

& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
- e # 5 | POUE—EB 1:20.3 2-2 33.8(110.3| 16 | 468 |HILEA (=)

11816 HIST7RZX 53.0 (=) (+2) (%) &<H5a%—2X
RYIFTLIFL N BYITIs—=2 Y [ikie

2N 4 5 | AAER— 1:20.5 1-1 34.1107.6 | 2 458 | ERE— (BR)

] 8 7{—/1/\—/ 55.0 (1 1/4) (+6) HIEE
AR v g4 =0 B:PragIrizb J =Y Tr—L

K [ 4 5 | MHEXE 1:20.7 7-7 33.6 | 105.9 | 10 498 | ARBE (FH)

30111 b2 R =Ty B w7 54.0 (1 1/4) 2) gﬁﬁ%%

v NyBahTr BRIV IAVR AR R

o6 | EPR 1:20.9 3-3 34.2 [103.4 | 1 520 | EEEE (RR)
4|8l @V /N2y Tr 55.0 (1 1/4) (o) |EAIET
Rixrgnqn— BiKRy hTUUFLR il BER

=_ # o6 | FEHR 1:21.0 1-11 33.6102.6 | 7 466 | BRI (RR)

5 3| EINT=D 54.0 (1/2) o) | B HrF-L—2oy
R:TIT2AExAL BETNYT1HR (B) HBEa-KL—-—ra>aEI7
i S # 5 | BER 1:21.0 3-5 34.2[102.4| 4 492 | EEFZ (BR)

612|778 -RAF— 54.0 (7€) o |BERE
RANTG 4R~ BTIR—HLTAX Y B T
B s 4 6 | ATK 1:21.2 14-14 | 33.7(100.4| 8 508 | ARG (RR)

7159 |7 T =3 b 55.0 (1 1/4) o |BRSHIILY
R:TIRTLE— B:F4F ROy TR NSERNTT— L
R > 7 | mAFEX 1:21.3 17-16 | 33.6| 99.3 | 5 480 | THEEZ (RR)

8|50/ ¥/ >707 77— - 53.0 (1/2) () | W) g/ vo2
R:y4—I>TLh B9y IET EBRTF— L

#o4 | IVEX 1:21.4 1-1 34.2| 9.1 | 3 472 | HBOBLRER (FEX)

9 Wl 11 FTV—-E> 56.0 (1/2) (+2) %.?EEEE%Q

LA ATAT v— Biov 7o — HE77—»4L
N o 4 4 | REREX 1:21.5 5-6 34.6| 96.5 | 11 | 494 |EHREE (ER)

1oy 12| ZXERY TTLA 54.0 (1/9) 4g) | £YE (48

R:T7TF X Biky hTLA SRS
s N 4 5 | AEEND 1:21.5 5-7 34.5] 96.8 | 13 | 474 |WOERI (}R)

11N 5| TT¥>F X7 56.0 (NF) (o) | ) g
L:OyIATTTINEIL B:FIL=h HRES# /—¥rL—v>27

= 4 4 | BHF 1:21.5 16-16 33.8| 97.1 | 6 438 | BE—% (ER)

1280 4 | XA NFTIEF 540 (76 (o) | BEERF
R:77NTS5Y BivaArFrI J—H Ty — L

. S s 5 | JIAERE 1:21.5 7-3 34.8] 95.9 | 12 506 | AEEN (ER)
13/8|17| 7Y -~ 13T 54.0 () o) | BlERE
RiF L TAANAN B XIN—=7 T 2T FHHEMS
. S, SRS 45 | ATEN 1:21.7 10-10 [34.5| 94.9 | 15 | 472 |Axh= (EF)

1400 7 | RA BRI NT — 54.0 (1 1/2) 4y | KR PZR=Z ()

LxLTHANAN BAHIHTS [Eiakae
5 44 | HHEHEA 1:21.8 11-13 34.4| 93.8 | 9 506 | mAE (Ei#)

1510 6 A v =T X)) — ~ 54.0 (7€) (+6) (#%) G1L—o>7
R:FAT*Tv— B:XTUE—Fvy b BHR=H AESSE
SLE_A~NRS 47 | LEAET 1:22.1 14-14 | 34.6| 90.7 | 18 52 | HBFT (FR)

16/7 /15| S v ¥ ="~ bt7 54.0 ® o |BEASE
LV RKYJUXIR BT EStae]

P, S g | EEBC 1:22.2 7-7 35.3| 88.4 | 17 | 52 |HMEEE (RR)

17(7 14| F1¥ > 75> 53.0 (1/2) 4oy | RAKIER

RiaA X 0 ML BAAYLVLET J—RENXTZT ALK
N > 6 | HFMER 1:25.4 18-18 [ 36.2| 59.0 | 14 | 478 |EEF#— (k)

18013 2 ) /3> B T7 0 (51%) ) | ) HEL-2A-3
L7258 B:U—F1/N—/IN— BT 7 —L4

@ 21 L

£y 45.2-33.9

NaO>24 L | 12.3-11.4-11.4-11.3-11.2-10.8-11.9

® I—F—&EBIERL

13—7-

23—7F—

33—7+— [8,16(2,18)(5,12) (1,14,17)7(3,6,11) (9,15)4,10=13

40—F— 8,16(18,17)2,12(1,5,14)7(3,11)6(9,15) (4,10)=13

[ N5

B R 16 13,570 | [ 71 K 8-16 11,220 | | # & 4-8 1,180 | | 3:&4& 1-8-16 249,810/

# B 16 2,610 1-16 23,220 B E 8-16 36,350 EE 16-8-1 2,163,980

8 270/ 1-8 2,810 B H 16-8 88,790H
1 730M

ABICOVWTRDTEEERROODE. TR LIV,




